Linear Equations ax = ¢ (D)

Instructions: Solve each equation for the variable given.

50 = 60 2d = 8 5 = 45 = 9c = 27
= 2 ot = i F=4 S
7n = 126 5w = 65 2a = 30 7k = 84
n = 13 W= &= K=z
6c = 114 4k = 36 10p = 20 v = 14
=19 H=q9 Pp=Z v="%
3d = 15 10g = 140 10s = 130 79 = 133
d=5 00:14 $=13 a[:;q
2 = 4 4v = 56 3u = 27 Bw = 12
=2 Ve 14 M= q w=2
3 = 6 6k = 84 3v. = 39 2s = 24
foe 2 K =14 V=13 3=12
6v = 90 6u = 108 10f = 10 6g = 96
V=I5 M= 18 il 947
10f = 30 39 = 54 4 = 28 7f = 84
f=3 4= 18 f=% =1z



Linear Equations ax = ¢ (E)
Instructions: Solve each equation for the variable given.

10h = 180 7u = 140 . 2r = 8 10n = 200
h=1% dh= 25 r =4 neE 26
8x = 48 Adm = 64 6d = 6 2h = 22
X = m = 1 o= | H=
5 = 90 4b = 48 3n = 24 9 = 63
3:'8 b= 2, =g £=q
2p = 16 5h = 40 8j = 88 7x = 91
A=E h=8 4= =13
3k = 48 8h = 88 49 = 24 8 = 112
+= 1o h=1 g0 o= 14
10x = 170 5 = 70 10a = 110 5w = 50
=1+ 3:“} &= 1| VT
4 = 4 2b = 38 8n = 80 9s = 36
K= b= 19 i = 1B 8 =4
29 = 16 7d = 14 3t = 18 2u = 18
&3 =2 =0 =9



